Quiz Chapter 15:  Physical and Cognitive Development in Middle Adulthood (30 points)

Name___________________________________

MULTIPLE CHOICE:  Choose the alternative that best completes the statement or

answers the question.

1.
A frequently cited reason that many current middle-aged employees feel outdated is due to

a.
unfamiliarity with computers.

b.
slower physical response times.

c.
the cognitive decline that occurs after age 40.

d.
the lack of energy compared to younger adults.
2.
__________________ occurs when someone makes an idea come true simply by believing it will.

a.
Fatalism

b.
The parental imperative

c.
The Rosenthal and Jacobsen Effect

d.
The self-fulfilling prophecy

3.
Horn included all of the following in his theory of intelligence EXCEPT

a.
spatial intelligence.

b.
crystallized intelligence.

c.
fluid intelligence.

d.
performance intelligence.

4.
The current popularity of __________________ may be reducing the trend of weight gain and muscle loss in middle age.

a.
liposuction

b.
stomach resectioning

c.
low-fat diets

d.
aerobic exercise

5.
Jeff has reached 46 years of age and now feels terrible. He has chest pains, indigestion, and is tired all the time. Erikson would predict this, as Jeff is facing

a.
the physical ailments that are inevitable as one ages.

b.
the generativity crisis.

c.
the stress that accompanies attempting to find a solid identity.

d.
the difficulties inherent in attempting to gain wisdom.

6.
During middle adulthood, how does hearing ability change?

a.
Higher frequencies need to be louder in order to be heard.

b.
Lower frequencies need to be louder in order to be heard.

c.
The ability to hear human speech remains constant, but the perception of tonal elements decreases.

d.
The ability to listen to speech in a crowded environment declines, while the ability to listen to someone alone without background noise increases.

7.
Levinson suggested that an ideal solution for the midcareer crisis is to

a.
encourage older workers to mentor younger workers.

b.
facilitate early retirement for middle-aged workers.

c.
decrease the job requirements for middle-aged workers so that retraining is not necessary.

d.
ensure that the middle-aged worker does not have to change positions, and can be secure in their familiar job.

8.
For males, the relatively abrupt change in hormones that occurs in late middle age is known as

a.
andropause.

b.
impotency.

c.
infertility.

d. 
the male change of life.
9.
The main physical change in menopause is that

a.
the ovaries cease to produce the hormones estrogen and progesterone.

b.
there is an increased sex drive.

c.
mental health usually declines.

d.
the ovaries release only immature eggs.

10.
What is an example of crystallized intelligence?

a.
mathematics

b.
philosophy

c.
chemistry

d.
tests of reaction time
11.
For middle-aged males, testosterone has been shown

a.
to decline.

b.
to remain fairly stable.

c.
to increase.

d.
to fluctuate dramatically over the course of a month.

12.
Brenda is considering hormonal replacement therapy for relief of her menopause symptoms. What is the greatest concern she should have?

a.
an increased risk of hip fracture

b.
an increased risk of heart disease

c.
an increased risk of phlebitis

d.
an increased risk of breast cancer

13.
Children and youth are to pedagogy as adults are to

a.
androgogy.

b.
androgyny.

c.
etymology.

c.
anthropomorphication.

14.
Gardner’s classifications of intelligence include all of the following EXCEPT

a.
linguistic intelligence

b.
practical intelligence

c.
social understanding

d.
logical-mathematical intelligence

15.
Sternberg argues that intelligence tests must be reevaluated and considered as measures of

a.
achievement.

b.
motivation.

c.
crystallized knowledge.

d.
fluid knowledge.
16.
What is the most important characteristic of the creative adult?

a.
originality

b.
flexibility

c.
elaboration

d.
dramatic intent

17.
Simonton’s studies throughout the 1970s showed __________________, which supported Lehman’s research on the creative effort of older individuals.

a.
artists tend to peak earlier than do writers

b.
scientists make their major contributions before the age of 45

c.
writers do not show a peak in creativity, but produce at the same rate over the years

d.
quantity of creative products decrease with age

18.
Self-initiated learning, deferring judgment, being flexible, and self-evaluation are aids to

a.
creativity.

b.
automatic attention.

c.
effortful attention.

d.
prospective memory.

19.
The cessation of menstruation is called

a.
menopause.

b.
climacteric.

c.
climacterium.

d.
menarche.

20.
An example of sexual harassment is

a.
verbal sexual suggestions.

b.
forced sexual relations.

c.
explicit propositions backed by threat of job loss.

d.
All of the answers are correct.
21.
The story of how Thomas Edison tried more than 2,000 combinations of metal before he found just the right kind of electric element for the light bulb exemplifies Hallman’s concept of __________________ as a contribution to creativity.

a.
the ability to cope with frustration and failure

b.
making swift judgments about utility

c.
fear of ridicule

d.
an excessive need for success and rewards

22.
Nicole is 52 and is attending college. What is likely to be her motivation?

a.
It is necessary in order for her to keep current in her employment.

b.
She is attempting to be competitive with her male peers who had the opportunity to earn degrees at an earlier age.

c.
She needs the knowledge to obtain a good job because of her divorce.

d.
All of these are reasons why Nicole would attend college courses.

23.
Which of the following is a shift in training approaches that has been made by many employers in response to an aging workforce?

a.
more investment in continuing education, seminars, and workshops

b.
more effort spent in recruiting younger workers

c.
less interest in providing health care because older workers require too much investment

d.
more investment and training to bring younger workers up to the knowledge level of older workers

24.
Alissa is going through menopause. Although every woman is different, Alissa is most likely between the ages of

a.
28 and 32 years old.

b.
35 and 45 years old.

c.
48 and 52 years old.

d.
55 and 65 years old.
25.
The Equal Pay Act was passed in 1963. What has been the result in terms of salaries for men and women?

a.
Men receive less pay than women for similar jobs.

b.
Women receive equal pay with men for similar jobs.

c.
Women receive less pay than men for similar jobs

d.
Women are promoted more often now than men with equal qualifications.

26.
__________________ occurs when older individuals question their career goals and discover that further advancement is not likely to occur.

a.
The midcareer crisis

b.
The omission error

c.
The fundamental attribution error

d.
The midlife crisis

27.
Dean is a 46-year-old electrician. His employer has just informed Dean that he is being dismissed because he is “overqualified” for his old job. Dean suspects that age is the real issue involved. What is likely to be the outcome if Dean files a legal protest for being fired?

a.
Dean is not going to get his job back, because the federal age discrimination act is poorly enforced.

b.
Dean will get his job back because of protection from the federal age discrimination act passed in 1968.

c.
Dean will not get his job back because he does not qualify for protection from the federal age discrimination laws because he is too young.

d.
Dean will get his job back because his employer will come to recognize the value of older employees.

28.
__________________ is a general term that refers to a relatively abrupt change in the body, brought about by changes in hormonal balances.

a.
Menopause

b.
Climacterium

c.
Menses

d.
Climacteric

29.
As the “baby boom” generation enters middle age, how has the workplace changed?

a.
The labor pool is growing.

b.
The labor pool is shrinking.

c.
The unemployment rate is higher than ever before.

d.
The unemployment rate is lower than ever before.

30.
How do adults differ from children in the learning process?

a.
Adults want to know why they need to learn something before undertaking it.

b.
Adults have a self-concept of being responsible for their own decisions.

c.
Adults are life-centered in their orientation to learning.

d.
All of the answers are correct.
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